
CHEM 130                              Name  __________________________________ 
Quiz 6 – Oct. 28, 2011 
 
Complete the following problems.  You must show your work to receive full credit.  Show your 
answers to the correct number of significant figures with the correct units. 
 
1. Brass has a density of 8.40 g/cm3 and a specific heat of 0.385 J g-1 oC-1.   A 11.6 cm3 piece of brass, 

initially at 198oC is dropped into an insulated container with 150.0 g water, initially at 23.5oC.  
What will be the final temperature of the water-brass mixture?  . (8 pts) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
2. Oxygen-acetylene flames are used to produce very high temperatures for a variety of applications, 

including welding.  What is the quantity of heat evolved, in kilojoules, when 124 gram mixture containing 
equal parts of C2H2 (molar mass 21.213 g/mol) O2 by mass is burned?  Assume the reaction below: (8 pts) 

2C2H2(g) + 5O2(g)→ 4CO2(g) + 2H2O(g)         Ho = -2610 kJ 
  



3. Determine Ho for the reaction N2H4(l) + 2H2O2(l) → N2(g) + 4H2O(l) from the data below: (9 pts) 
N2H4(l) + O2(g) → N2(g) + 2H2O(l) Ho  = -622.2 kJ 

H2(g) + ½ O2(g) → H2O(l) Ho  = -285.8 kJ 
H2(g) + O2(g) → H2O2(l) Ho  = -187.8 kJ 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

 
Possibly Useful Information 

 

q = mcT K = oC + 273.15 

qrxn = nHrxn Specific heat of H2O (l) = 4.184 J/gK 

 


